SYDNEY BOYS HIGH
MOORE PARK, SURRY HILLS

2006
YEAR 10 YEARLY EXAMINATION

Advanced Mathematics

Directions to Candidates:

o Answer all questions in the
spaces provided in this question
booklet.

o Full marks may not be awarded
for careless or badly arranged
work.

o Use black or blue pen for written
answers, but pencil for diagrams
and graphs. :

o If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which question you are
continuing.

o Board-approved caleulators may
be used.--

.» Time allowed: 2 Hours

Examiner: Mr C. Kourtesis

Name:

Your Mathematics Class
(Tick the box)

10MaA Mr Fuller
10MaB Ms Ward
10MaC. Mr Boros
10MaD Ms Evans
10MaE  Mr McQuillan
10MaF Mr Gainford

Marker Use Only

Section Mark

20




Question 1 (20 marks)

Marks
Answers
(a) Simplify: )
(i) 3k+2+k
. 3a . a ‘ P i
(11) "8— + - 2 \I
(b) Find 8% of $2700. R
‘\
(c) Simplify: \|
. /130 ‘~.
(i) 75— . “
4+ 8 | "
PR
| .
| i
| 1
(d) Factorise ab+ 202.]
(e) Solve 4t —1="3. )
V22500
te ———.
(f) Evaluate 35x64
( a4 4 ,"‘
(g) Simplify ~—
(h) Solve simultaneously :

y=2 and
y+6=2z

Page 2 of 24 ... [exams/2006/ Year10/Yearly06.tex

25/9/2006




(i) Find tan124°15’ to one decimal place.

(3) (i) Solve —2z+1>5.

(ii) Graph the solution set on a number-line.

(k) Sketch the graphs of: FARERURNERES SN Sy EN RS
@) y=2"+1 B DS N T NS 30 N IO B
(11)’5/—32 S N : 5 ;\;
e N N R

,E.bg.:’,‘”', .

(1) Evaluate 10 — 222 when £ = —1.

A
i
A
.

(m) Express z% of $m in cents. g

e

(n) Simplify 8n? +4n~2

(0) If sin@ = 0-147 and 6 is acute, find § to the
nearest minute.

(p) Solve 2m? = 18.

End of Section A
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SYDNEY BOYS HIGH
MOORE PARK, SURRY HILLS

2006

YEAR 10 YEARLY EXAMINATION

Advanced Mathematics

Directions to Candidates:

e If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which question you are
continuing.

e Answer all questions in the
spaces provided in this question
booklet. '

o Full marks may not be awarded
for careless or badly arranged

work. e Board-approved calculators may

be used. *
¢ Use black or blue pen for written

answers, but pencil for diagrams -~ Time allowed: 2 Hours

and graphs. Examiner: Mr C. Kourtesis
Name:
Your Mathematics Class a Marker Use Only
(Tick the box) :

10MaA Mr Fuller , Section Mark
10MaB Ms Ward .t
10MaC Mr Boros
10MaD Ms Evans : | _/ _ZO
10MaE * Mr McQuillan | L L
10MaF Mr Gainford




Question 2 (20 marks)

(a) Theo invested $8000 for a period of four years
to earn compound interest of 8% p.a. What is
the amount of interest that Theo will earn?

Answers

(b) Solve the equation (2m+ 1)(4—m)=0.

81°
400 m

65° )
P R

Use the Sine rule to calculate the length of the
side PQ correct to the nearest metre.

\
\\
\

(d) Find the area of the curved surface of the cone.
(Answer in terms of w.)

/ -
i
{

2
©urv="" (620,

express this with G as the subject.

(f) A sphere has a diameter of 10cm. Find the
(i) volume (in terms of ),

(it) swrface area (in terms of ).
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Find the ratio of areas, AABC : ADEC.

(h) A circle has the equation
(z — 4y + (y+5)> = 100

Find the

(i) codrdinates of the centre,

(i) radius.

(i) If VA =n+4, find the value of 3A.
\

‘,
\ .
L

\
(3) p(_g’ 4y
2

z

Find the exact value of cos@ +siné.

(k) B

7 cm

4 70°
10cm ¢

Use the Cosine rule to find the length of BC
(correct to 2 dec. pl.).

End of Sect—ion B
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YEAR 10 YEARLY EXAMINATION

Advanced Méthematics

Directions to Candidates:

e Answer all questions in the
spaces provided in this question
booklet.

e Full marks may not be awarded
for careless or badly arranged
work.

e Use black or blue pen for written
answers, but pencil for diagrams
and graphs.

o If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which question you are
continuing.

. Board‘—approved calculators may
be used.. -

. Time allowed: 2 Hours

Examiner: Mr C. Kourtesis

Name: e - e

Your Mathematics Class
(Tick the box)

10MaA Mr Fuller
10MaB Ms Ward
10MaC Mr Boros
10MaD Ms Evans
10MaE Mr McQuillan
10MaF Mr Gainford

Marker Use Only

/
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Question 3 (20 marks)

7cm 8cm

8 61°

Find the size of § (to the nearest degrge).

Answers

(b) Two similar rectangles have areas of 160 cm?
and 90 cm?.
(i) Express the ratio of these areas in simplest
form.

(ii) What is the ratio of the sides of the two
rectangles?

(c) A square pyramid has a base *
' of 10cm and vertical height of
“12cm. ,
Find the: .

(i) volume of the pyramid,

(ii) surface area of the pyramid.

(d) Light travels at 3 x 10°m/s. How many
kilometres does light travel in one hour?
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(e) Use the quadratic formula to solve the equation
22?2 — 5z — 1 = 0 (answer in exact form).

(f) Find the area of the parallelogram ABCD.
D c

7-1cm \‘*\
P 98147 N

10-3cm

B

i
4
H

\

(g) If (z+2)(z+k)=2*>+nz+8, find the values
of k£ and n.

2t +5—1 \

(h) Slmphfy —

(1) Express with a rational denominator

End of Seétion C

25/9/2006 ... /exams/2006/ Year10/ Yearly06.tex

Page 11 of 24




Extra working page

Page 12 of 24 ... /exams/2006/Year10/ Yearly(06.tex 25/9/2006




SYDNEY BOYS HIGH
MOORE PARK, SURRY HILLS

2006

YEAR 10 YEARLY EXAMINATION

Advanced NV

Directions to Candidates:

e Answer all questions in the
spaces provided in this question
booklet.

o Full marks may not be awarded
for careless or badly arranged
work.

e Use black or blue pen for written
answers, but pencil for diagrams
and graphs.

Name: -

lat

hematics

e If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which question you are
continuing.

e Board-approved calculators may
be used.

Time allowed: 2 Hours
Examiner: Mr C. Kourtesis

Your Mathematics Class
(Tick the box)
10MaA Mr Fuller
10MaB Ms Ward
10MaC Mr Boros
10MaD Ms Evans
10MaE Mr McQuillan
10MaF Mr Gainford

Marker Use Only

( Section Mark 1

120




Question 4 (20 marks)

(a) Find the values of the pronumerals in each case.
(Do NOT give reasons.) In each diagram O is the
centre of the circle.

B =

Answers

@

7 AT and BT are tangents.

s

(vi) AT is a tangent.
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(b) Use the Cosine rule to find the size of § (correct

to the nearest degree).
12cm

15cm

(c) The surface area of two similar solids is in the
ratio 4 : 9. If the volume of the larger one is
243 cm?, find the volume of the smaller one.

End of Section D
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MOORE PARK, SURRY HILLS

2006
YEAR 10 YEARLY EXAMINATION

Advanced Mathematics

Directions to Candidates:

e If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which question you are
continuing.

e Answer all questions in the
spaces provided in this question
booklet.

¢ Full marks may not be awarded
for careless or badly arranged

work. e Board-approved calculators may

be used.
e Use black or blue pen for written .

answers, but pencil for diagrams Time allowed: 2 Hours

and graphs. * Examiner: Mr C. Kourtesis
Name: - 4 :
Your Mathematics Class . Marker Use Only
(Tick the box) ( )

10MaA Mr Fuller Section Mark
10MaB Ms Ward
10MaC Mr Boros o -
10MaD Ms Evans ' / 20
10MaE Mr McQuillan
10MaF Mr Gainford




Question 5 (20 marks)

(2)

Answers

—————

1 } H 1 1 1 H 1 ] ! 4 1 1 ]

5 6 7 8 9 10 11 12 13 14 15 16 17 18
Consider the boz-and-whisker diagram above.
Find the:

(i) interquartile range,

(i) percentage of the scores that are from 3 to 15.

(b) Given the following two sets of scores:
A: 8 75 70 65 60
B: 72 71 70 69 68

(i) Find the mean and standard deviation in
each case.

],.,

|

(ii) Which is the better result, a score of 75
from A or 72 from B? Give reasons. -

(c) What restrictions are there on z in each of the
following?
. z+4
9 1—-6z

(i) VN? — 4z
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(d)

from town P on a
bearing of 150°T to
town R.

town Q.

(i) Find the size of ZPRQ.

A tourist drives 25 km

He then drives 45km
on a bearing of 022° to

(ii) Calculate the distance of town @ from
- town P to the nearest kilometre.

\
|
\

o

(e) If A(5, k), B(2,7), C(2,1) are vertices of a
triangle, find the area of the triangle.
@

-

(f) Find the mnext term of the sequence
1,935,091, ...

(g) ABCD is any parallelogram where sin A = k.
A = B

D = C
Find sin B.

JH_

(m—c)—?)(c—m)‘

e . m
(h) Simplify —

End of Section E
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SYDNEY BOYS HIGH
MOORE PARK, SURRY HILLS

| 2006
YEAR 10 YEARLY EXAMINATION

Advance‘d Mathematics ~

Directions to Candidates:

e Answer all questions in the
‘spaces provided in this question
booklet.

e Full marks may not be awarded
for careless or badly arranged
work.

e Use black or blue pen for written
answers, but pencil for diagrams
and graphs.

e If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly ‘which question you are
continuing.

e Board-approved calculators may
be used.-

Time allowed: 2 Hours
Examiner: Mr C. Kourtesis

Name:

Your Mathematics Class
(Tick the box)

10MaA  Mr Fuller
10MaB Ms Ward
10MaC Mr Boros
10MaD Ms Evans
10MaE Mr McQuillan
10MaF Mr Gainford

Marker Use Only
Section Mark
J




Question 6 (20 marks) Answers

(a) ‘ Find the value of z.
N S

(b) (i) Expand and simplify (z+ y)*.

|

| -

(i) ¥ 24+y=1land2®+¢° — 19, find the
value of z% +9%

(c)A B ABCD is a square with
T point 1" inside the square
such that

DT =CT=DC.

Prove that triangle AT B
is isosceles.

(d)

The diagram shows the graph of

y=(z—c)? and y =z +1t, where C and ¢ are
positive. The graphs intersect on the y-axis at
T. Find the equation relating c and .
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(e) A train left Sydney at r a.m. and arrived at its
destination at ¢ p.m. the same day. Find an
expression for the number of hours taken.

) B
Lo

T 2z

A " C
In the triangle ABC, find the exact value‘ of Z.
YLy

(g) The diagram shows a major sector of a circle
with centre O and radius r. Find the area of

the shaded region.
2r

7

(h) P A circle of radius 6 and centre O has an isosceles triangle
PQR inscribed in it, where PQ = PR.
A second circle touches the first cirele and the mid point
{ of the base QR of the triangle as shown.
The side PQ has a length 4/5.
Q M is the midpoint of QR.
N) _F LetOM=zand QR=2.

|

(i) Explain why 22 44 = 36. |

(ii) Find the radius of the smaller circle.

End of Section F
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SYDNEY BOYS HIGH
MOORE PARK, SURRY HILLS

2006
YEAR 10 YEARLY EXAMINATION

Advanced Mathematics

Directions to Candidates:

e Answer all questions in the
spaces provided in this question
bookilet.

o Full marks may not be awarded
for careless or badly arranged
work.

* Use black or blue pen for written
“answers, but pencil for diagrams
and graphs.

Name: S\“J&W&’ S\Aa(‘ l"Q

o If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which question you are

=7 T continuing.

Board-approved caleulators may
be used. -

» Time allowed: 2 Hours
Examiner: Mr C. Kourtesis

Your Mathematics Class
{Tick the box)

10MaA. Mr Fuller
10MaB Ms Ward NG
10MaC, Mr Boros
10MaD Ms Evans-
10MaE Mr McQuillan
10MaF Mr Gainford

Marker Use Only

Section Mark

A 19120

16%S

N

Page 2 of 24

Question 1 (20 marks)

() Simplify:

(i) 3k+2+k
LrleX2 ,
wIG s 4
2 pa
(b) Find 8% of $2700. /
$216 k-
(c) Simplify: /
o Y
YIS )
@' f/}m . /
e |l ‘
(d) Factorise ab+2a%. /
a(b } 2e A p
() Solve 4t—1=13. /

br= 1% L= F =03

/22500 SO
(f) Evaluate %64 T

. (abt :
(g) Sl{npllf}f pe o\‘{o _ i
T S e

(h) Solve simultaneously

y=2 and
y+6 =2z

L& 6T
g = Cx
%‘/Lﬂ'
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(i) Find tan124°15 to one decimal place.

-5

(G) () Solve —2z+1>5.
Y

e X L

(ii) Graph the solution set on a number-line.

-

(k) Sketch the graphs of:

@) y=s*+1

) y="2

(1) Evaluate 10 —2z? when z = —1.

io-2() = B

(m) Express 2% of $m in cents.

1 o~ . ’ C_e_ﬁl( <
[

(n) Simplify 8n%+4n~2.

Ty
n

(6) If sin@ = 0-147 and 6 is acute, find & to the

nearest minute.
(=3 1
B 27

(p) Solve 2m? = 18.

I %

End of éection A
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Directions to Candidates:

o If additional working space is
needed, use the spare pages at

o Answer all questions in the
spaces provided in this question

booklet. the end of the booklet. Show
clearly which question you are
o TFull marks may not be awarded continuing.
for careless or badly arranged
work. e Board-approved calculators may
be used:

o Use black or blue pen for written
answers, but pencil for diagrams «  Time allowed: 2 Hours

and graphs. Examiner: Mr C. Kourtesis
Name: __ Shuerh Sugt o
Your Mathematics Class Marker Use Only
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Question 2 (20 marks) Answers
(a) Theo invested $8000 for a period of four years
to earn corapound interest of 8% p.a. What is
the amount of interest that Theo will earn?
T 7 %7 28234 \

A= 2000 (1-08) E
(b) Solve the equation (2m 4 1)(4 —m)=0.

\ R
s T (Y4 L

(© Q

81°
400m

65° ’
P R

Use the Sine rule to calculate the length of the
side P@ correct to the nearest metre.
e Q — O

Po= 63~

$inbS S B4

(d) Find the area of the curved surface of the cone.
(Answer in terms of m.) o= Yics
A

‘ 2y HTT S

24m s= 25
J ~
‘ shk= ("b (253 W
. SN
~—14m— = BT
2R, '&{.\;—\’\‘ —&" ,‘
©uv=2" >0, I ,
7y - e
. . . d r:__
ex;:\?s"s _Ehgzmtilth G as the subject. L\‘ \Jl/\‘
(f) A sphere bas a diameter of 10cm. Find the
(i) volume (in terms of ), . -

166 7= M

(i) surface area (in terms of ).

OO

Page 6 of 24 ... Jexams/2006/ Year10/ Yearly06.tex 25/9/2006

NE

Find the ratio of areas, NABC : ADEC.

fabio oQ 5’0“3" = -5
ra«k‘io OQ Cegas = L\'\‘ 7>
() A circle has the equation
(z —4)*+ (y-+5)° =100 ]
5
. Find the g _ 2
(i) codrdinates of the centre, (\L(' ; - ')
(i) radius. O \
(i) ¥ vA=mn+4, find the valui(o{ ?]:;4 2 A -7_(3;/\3(\%8(")
TR o
- ~ )
Fe ) A
l -
L
z
Find the exact \%lue of Ccf{ 0 + sin 6. T z
T+t =% s
® 5 ’ L g~ D eesT
7cm = \ H AT (’(Acc} {
70°
4 10cm c %C = \O*@’gc‘_m

Use the Cosine rule to find the length of BC

(corTect to 2 dec. pl.).

End of éectiOn B
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SYDNEY BOYS HIGH
MOORE PARK, SURRY HILLS

2006
YEAR 10 YEARLY EXAMINATION

Advanced Mélthematics

Directions to Candidates:

e Answer all questions in the e If additional working space is
spaces provided in this question needed, use the spare pages at
booklet. the end of the booklet. Show

clearly which question you are

e Full marks may not be awarded continuing.
for careless or badly arranged i
work. » Board:approved calculators may

be used..

e Use black or blue pen for written -
answers, but pencil for diagrams ., Time allowed: 2 Hours
and graphs. } . Examiner: Mr C. Kourtesis

Name: __ Shuart i-?ua Y
Your Mathematics Class Marker Use Only
(Tick the box)
Section Mark

10MaA Mr Fuller

10MaB Ms Ward v g
10MaC Mr Boros ' 2@
10MaD Ms Evans / 2 O

10MaE Mr McQuillan
10MaF Mr Gainford

Question 38 (20 marks)

(a) ™ -
T Tem Scm si~G6\
g 61°
_Se=b\,

Find the size of § (to the nearest degree). ~1

S o = =

Answers

2

=
i~

-8
S

i

22"

(b) Two similar rectangles have areas of 160cm?
and 90 cm?.
(1) Express the ratio of these areas in simplest
form.

1L 9

(ii) What is the ratio of the sides of the two
rectangles?

RS

(e) A square pyramid has a base
V3 of 10em and vertical height of
"12cem.
Find the:

0

&

(1) volume of the pyramid,

OO cor

(i) surface area of the pyramid.
e o= N\ 120 YT
=\

oo & 2 #1350 =sA
>

sSA~ 360 co

e

(d) Light travels at 3 x 10°m/s. How many
kilometres does light travel in one hour?
\]O o, o0, 00

logx 1T e
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> - e

(e) Use the quadratic formula to solve the equation
2z% — 52— 1 =0 (answer j_nyezigt_igrg)._’_
—(=sOF Y zs+3
_

—~e = ™
_ _5:%@ v

(f) Find the area of the parallelogram ABCD.
D

C
7-lcm \\
28°14/ N %

4 10-3cm
- . O\LS-\
A: %\DC_, S\ 22 . . 3
K= sg;(—[.b(\m-i\ o 28714
A = BY - éow"’Cmc}

fhod

(g) If (x+2)(z+k)=2®+nxz+38, find the values

of k and n. T
. ST ¥ 2k Qo TO 2’
(&
N

R
. 27t457l o
(h) Simplify T ___;gc_____
e
- 2
VO - -1 O —_ I
o 7w T %o = 4
(i) Express with a rational denominator
2 Is+>
VR BINCTE __
235 L =uls *& Z
s % =
S - B

‘:z%_ NI
SSXC
End of Section C  _ _ %
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MOORE PARK, SURRY HILLS

2006
YEAR 10 YEARLY EXAMINATION

Advanced Mathematics

Directions to Candidates:

e Answer all questions in the
spaces provided in this question
booklet.

e Full marks may not be awarded
for careless or badly arranged
work. !

o Use black or blue pen for written
answers, but pencil for diagrams

and graphs.

Name: S _L«AC\(ST i Sl\ﬂ o

4

o If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which question you are
continuing.

o Board-approved calculators may
be used.

" Time allowed: 2 Hours
Examiner: Mr C. Kourtesis

Your Mathematics Class
{Tick the box)
10MaA  Mr Fuller
10MaB Ms Ward v
10MaC Mr Boros
10MaD Ms Evans
10MaE Mr McQuillan
10MaF Mr Gainford

Marker Use Only

Section Mark

D /0no

Question 4 (20 marks) Answers

(2) Find the values of the pronumerals in each case.
(Do NOT give reasons.) In each diagram O is the
centre of the circle. /

0 = s
e &=\100"
-/
oY \//
= = \%o" '
f)
e= &5
/

= 5O°

—

o

7 AT and BT are tangents.

e =ss°

AT is a tangent.

T o TT6T

(vi) ’

/
- /
o =67 / |

... [exams 2006/ Year10/ Yearly06.tex 25/9/2006
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(b) Use the Cosine rule to find the size of 8 (correct
to the nearest degree).

12cm
8
8cm
15cm
- ’
- T LigT —-%
cosS S =1 ¥
"Z/C\ZSQ Sﬁ/
@
e = S
(c) The surface area of two similar solids is in the
ratio 4 : 9. If the volume of the larger one is
243 cm®, find the volume of the smaller one. IRA
- i Fon GQ srg;ﬁe& < 2
e S,z u oQ‘ \f¢\"‘"¢
e
(‘ L= —-(’2—(:/"

End of Section D
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Question 5 (20 marks) Answers

() e

L I3 1 1 1 I} 3 1 i H 1 1 L

1
5 6 7 8 9 10 11 12 13 14 15 16 17 18

Consider the boz-and-whisker diagram above. .

Find the: = /

(i) interquartile range, A
16°/e

(if) percentage of the scores that are from 3 to 15.

(b) Given the following two sets of scores:
A: 80 75 70 65 60
B: 72 71 70 69 68

(1) Find the mean and standard deviation in f4]
each case. -0 ’
\ =

;\ Sl.D g ——— % ot CM&O

R~ =~ T0 ,
@S-Dj s(’"\ (ZAQQ

(i) Which is the better result, a score of, 75
from A or 72 from B? Give reasons.

—— N from

g o B e Fhe-
'ﬂt— S B w[e,/e_as - 73— 3~

Lo M prcom

A »n no/‘ Cven

/! s D Quay

(c) What restrictions are there on z in each of the

following? . \
0 z+4 :\& \ X a

1—6z ~. >/ ’g

Page 18 of 24

A tourist drives 25km
from town P on a
bearing of 150°T to
town R.

He then drives 45km
on a bearing of 022° to
town Q.

(i) Find the size of ZPRQ.

<
o4 = _SE

(i) Calculate the distance of town @ from

-town P to the nearest kilometre.
PatT 2st } 4sP — 2e2S¥ES cosST

(e) If A(5, k), B(2,7), C(2, 1) are vertices of a ’
triangle, find the area of the triangle. \VA :
\
63

=% hb A~ = ( .
b_;g L\'?—3 - " C\u\m -

(f) Find the next term of the sequence /@/
1,9, 35,90 ... ~ 0 .

-
(g) ABCD is any parallelogram where sin A = k.
y ] g
o - - zo-t >
L [ LA = 2B = $M)(zy
i~ ; /
Find sin B. sin & =
e e m{m—¢) —3(c— m) - < “3€"£
(B) Simplly = o= %’S
e = 3 (=) Erd
e = -
S (49 e
- NG S =y aee
End of Section E __ "<
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Advanced Mathematics -

.Directions to Candlidates:

o Answer all questions in the
Spaces provided in this question
booklet.

o Tull marks may not be awarded
© for careless or badly arranged
work.

o Use black or blue pen for written
answers, but pencil for diagrams
and graphs.

o If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly ‘which question you are
continuing.

e Board-approved calculators may
be used.-
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Answers

Question 6 (20 marks)

(a) \ Find the value of z.
‘» Semtle  rnggtes

:’ - %
A > = é A

S c;o'»a

9"’ JVZ@”‘/ M-\'?:’x,q ’\”8)

() Hz+y=1andz®+y® = 19, find the
value of 2% 4 y2.
&\S—*\ > X((}(b kq
i tj

(c)4 ABCD is a square with

point 7" iftside the square
DT =CT =DC. oT= CT~
Prove that triangle AT'B LTONT LT
is isosceles.

L. AATD

N =T ¢ S cerra—*g’eﬁol\‘g sides
Z&' AT@ s {st&F_ae, (25

( AT=ET5

- b Ao & BTC N
AD= = Cs\it. OQ ’W“
such that ( VA ABT

)O

1 T
[

. e

/ I5) T
The diagram shows the graph of

y=(z—c)? and y = z --t, where C and t are
positive. The graphs intersect on the y-sxis at

T. Find the equation relating ¢ and ¢. )
V/j} b » I'J \
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Skaze LTOC;:LTCP
O LT &= 0L

= AR ((SAS
£ ATD = &CTO)

(e) A train left Sydney at r a.m. and arrived at its
destination at ¢ p.m. the same day. Find an

expressmn for the number of hours taken. L/ { ™
(ve—0) AD) = Lacrs dedeen |

® 2 P aor v - (D)
@ - __x:?’ (-— "\-Z\)
A

z 2%

A y

In the triangle ABC, find the exact value of z
e Y -
=—: /8 o \

\j *"7& =

(g) The diagram shows a major sector of a circle

with centre O and radius r. Find area. of .
the’shaded region. .
e — A

7,U

T~
A= 72y e

=== X
/'a—
A., ware

A circle of radius 6 and centre O has an isosceles triangle
PQR inscribed in it, where PQ = PR.

A second circle touches the first circle and the mid point
of the base QR of the triangle as shown.

The side PQ has a length 4+/5.

M is the midpoint of QR.

N ® LetOM =z and QR =2y.

O@ v = cadins

(i) Explain why 22 +12=36. - - S @ = [
oMl qMT~ oQT
OM 1% » SN =y O %7’ :S'Z— — 2
(if) Fin ;21;3 u‘S of the smaller cnr_t-:e ﬁ?
“iT &S P,
F= 3326 (;uzg\ =y

End of Section F
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